
TEAM CHESS PROBLEM SOLVING NATIONAL FINAL 
IMPERIAL COLLEGE, London, 3rd April 2019 

 
Round 4 – Black to play and help White to mate him in two moves. Give all moves in each  solution in each 
problem. The move sequence is 1.B W 2.B W#. Note that all of these problems have more than one solution as 
indicated below the diagrams. 
 

4.1) Valerio Agostini & Gabriele Brunori 
Probleemblad, 2018 

wdwdBdwd 
dwhwdwdw 
wdPdwdwd 
0wdndwdw 
kdw)Rdqd 
dpdwdwdw 
w)wdwdwd 
dwdwdwdK 

 
1.Sb5 c7 2.Sf4 d5# (2.5) 
1.Sb4 d5 2.Se6 c7# (2.5) 

 

H#2                         (6 + 6) 
2 solutions 
 

4.2) Lubos Kekely 
Die Schwalbe, 2019 

wdwdwdwd 
dwdwdwdw 
wdNdwdwd 
dwdR0wdw 
w0k0pdwd 
drdqdwdw 
wdwdwIwd 
dwdwdwdw 

 
1.Ra3 Rxe5 2.Rc3 Sa5# (2.5) 
1.Qh3 Ra5 2.Qc3 Sxe5# (2.5) 

 

H#2                         (3 + 7) 
2 solutions 

 

4.3) Lubos Kekely 
Sachova skladba, 2018 

wdwdwdwd 
dpdwdwIw 
wdw0pdwd 
dwiwdwdw 
w$w$wdwd 
dPgwdwdw 
wdwHwdwd 
dwdwdwdw 

 
1.Bxb4 Rxd6 2.b5 Se4# (2.5) 
1.Bxd2 Rdc4+ 2.Kd5 Rb5# (2.5) 

 

H#2                          (5 + 5) 
2 solutions 
 


